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Which of'the following symbol is used for a light. Dependent Resister in a circuit?

~
(1 (2 ~ (3) 4) I I

A student used the circuit shown to measure resistance R by taking the ammeter and voltmeter
reading.

Ifthe wire breaks at x, which of the following happens to the meter reading?

Ammeter Voltmeter
(1) increases increases
(2) increases decreases
(3) increases stays same
(4) decreases stays same

Two resistors of 10Q and two resistors of 5Q as connected together as shown in the figure. Which of
the following is the effective resistance between x and y?

—{____—
50 100 50

x o—  }—— — }——e

—L
10Q

(1) 30Q 2) 10Q 3) 15Q 4) 7.50

What is the correct graph of the variation of the potential difference when a current is flowing through
aconductor?

— | 1 1 1
2) 3) 4)
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The current pass through the resistor if 9V is connected to resistor of 15Q

1) 9x15A 2y 2 3y LS n 2
() 9x (2 15A (3) 9A 4) 15A

A current of 6A is passed through a metal coil when 24V potential difference is applied. The resistance

ofthee coil would be,
(1) 2_649 2) 2_649 (3) 24x6Q 4) 6Q

Which is the false statement regarding electric conductors from the following.

(1) Anelectric currentis a flow of electric charges.

(2) Thedirection of the conventional current is from the negative terminal to the positive terminal.
(3) Theresistance of a conductor depends on the material which is mode of

(4) Thetemperature of the conductor affects for the conductivity of the conductor.

The SIunit of measuring resistance is,
(1 Q 2 A 3V 4 W

What is the series arrangement with three resistors from the following circuits
(D [ r ] 2 [ T 1

L L2

T, 1}

L2 | L1 1

[T, | [T, |

L3 1 L3 1

(3) —— — ) —{F o

1, |
| |

What principal out of those given below is used in the flash camera?
(1) Electrolysis (2) Electro magnetism
(3) Electro static (4) Electro dynamics

Structured Essay Questions.

A (1) Ineachofthe following the resistance. Current or voltage to be calculated. Find the missing
quantity.

(a) (17V) (b)
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(1) Followingisa circuit set up to measure the resistance R.

C

Y —
m\
®
/MAA

®

(a) Whatare the two components marked A and B.

(b) Giveareasontoinclude component B in the circuit?

(c) When apotential difference across ris 5V, the resistance was found to be 23€Q2. When
the resistance was measured using a current of 2.0A it was found to be 28.4Q.

Give areason for the change in the answer.

02 A Complete the following passage.

An electric current is @ flow Of c..ooeeeiiiiiiiiiiii, . For this to happen there
Must be @ ..oocooeverenenieiciean circuit. Current is measured N ........cccocevvevverciecienienenennenn
USINE  eveeiieeiieeiie e eiee e e placed N ..o in a circuit. Potential
difference is measured USING ........cccceevveeviierveeinennnnnnn. placed ....ccoooiiiiieiiee the
component.

(1)  Findtheresistance of following resistor.

Colour Code value
Black 0
Brown 1
¢ ]
Brown Red D)
Black Orange 3

Red

(1i1)) Consider the following resistor arraignments.

60 60 8Q 8Q
MM A MM , -
(A) (B) ©)

(a) highestresistance

(03)
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Essay Questions

The following circuit diagram shown the procedure of measuring resistance of Resistor (R).

@

L0000
R

A 'A V»A ‘

X

(i) Name the componentx.
(i1) Write a function of ain the circuit.

(ii1) The following table shows the variation of potential difference over the current in a resistor.

IA) | V(V)
0.2 1
04 | 2
06 | 3
08 | 4
10 | 5

(a) DrawagraphVinY axisvslin X axis?
(b) Usingthe graph find the resistance of R.

(iv) Findthe currentacross the resistor when 12V potential difference is passed through 62 resistor?

In the circuit shown, the two bulbs are of different size and brightness.

&—

> (9=

=9 ()<

(1) (a) Whattype of meteris X?
(b) WhattypeofmeterisY?
(c) Whatisthereading of meterY?

(d) Whatisthe method of connection of A and B bulbs.

(i1)) Amalneedsaresistor of 30€2 and 13—0 Q) . Buthe could only find 3 resistors with resistance 10€2.

(a) Briefly explain how you could make a combination of resistors to obtain 302 resistance.

(b) Give a figure using syrlnbols showing how you could make a combination of resistors
having aresistance of 3 Q.

(i11) Give factors affect for the resistance of a conductor rather than temperature.

(iv) State the Ohm's law.

(04)
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